


= g
3 <
o0
1[5 <
2 =
< a8
T LT
Q;BO
A >
_r__rm,__
O
I N
e
of < H

—_
N

—_

o~
0

i
B momw
N~

L
Au,w.LL. An o
,m_uL:_o,... L e
T o T U R

NCECECRCN®)



e

T3} o] AALZFE ABCD oA F

BAE B,D oA 4L WAL T, aABQ
o yolg Fateler

a

A
/
' Q
6cm|
l\ P
\
B™---8cm---



A

24 B, D oA izt

B™~~-8cm---""C

e
/Ilml\\
o
©
ol
iy
o
o
mﬁ
NT.
op ™
B
ife)
%
<
| 0
=7
o R
T

cm



oS 23 o] A4 ABCD ©f| 4] o
Zt BD € HE L= sto] JojA H ¢
7t 2AA HL ¢, ¥ BC ¢ ¥ AD 9
PHEEHL T o, g2 A7

® /ABE + /EBD = /CBD ® AB+ AE =DE
® ABDE = A47+4 @ /ABE + /DEC’ = 90°
® /DBE = /BDC’



o2 193} Zo] 2 Az ABCD o4 BD
2 AL Mo sto] HArt aABF 9] Ho]
=7

® 5cm? @ 6cm? @ 7cm? @ 8cm?

® 9cm?



© ¢BFE = /DFE

© ¢FCD = /FDE

® (FED = /FEB

© DE =EB
@ CF =DF
Be

D S
=%






Oh= 1" 2ol LA = 90° /1 2124429 ABC o Al Rig A 522

_O
Sh= Bhele 13ieh AB = 120m o], A% 520] |7} 30cm?

SEPCERNEEEEE
‘“




10.

th-2.3} o] pABCD ¢ gjztAlo] A=
AWsta ity AB=5,BC =9 4 o, 5
CD’ - AD’ 9] gre Fatolat.




11, the 297} 2ol LA = 90° 9 A7H47te
ABC ©] A A o4 BC o el -49] e
Hzt & o, 7]l &2 A& E5F =2
2.
[a7]
27]
@szax @b_x:cy ©b2:ay
@ bc=ah @a2:bc @h2:)€y




12, thg 27 2ol 4ABC o Al WL abc o T

AE?

@ a® > b? + ¢ o|H AABC & 24zt o|tt.
@ (A =90° |9 b2 > a? + 2

® a® > b% +c? o]H /B < 90° o]t}

@ a® <b*+c? o|H LA < 90° o]t}

® /B <90° ©|H b2 < a? + 2 ot}

o, o

O
=

=
K

2
£

Mo



Al Je] dol7t 242F 9, 12, a <}

13.

@ 270 @ 374 @ 47 ® 570

@ 174



139 gABCD = 5
Z

1Yl 79
of BE ZAr g ol
54 o, oPQRS 9] Ho]




15.

>~
T
N
anl

o2 2T} Zo] A = 90° 9l Azt
ABC 9] = ¥ AC,BC & Zt7Z ¢t ¥
L AAZY ACFG 9F A2 BD
=1, A oA ¥ BC o A4S

H BC, DE ¢ Tt HS 247t |,
BC = 10cm, AAEC = 18cm? o|t}. A}
BDIH 9] Yol& otz (&, &9
=)

=

%Hm o g
ﬁm"“iOlﬂlJ
o 09‘.'.?%—!1'1 mu o ofh

r 7

B e’

C

—18 cm?




16. 193 22 AZAAGeNA xy ol 2L T atole)




(¢}
A M2 AE AD 9 ZHo]|T, BM

20, BC = 32 ¥ ©j], DABCD 9] {ol&




18.

AF=BG=CH=DE=6cm
oA o, JEFGHe Ed¢ 24
o5 F3IAL.

>

L

E6cm
%_I |_D
F H
écm
i m
B 6 emG C



19. g J"HoA /B =90° o], D, E = ZtzF BC, AB 2] &Ho]t},
AC=18 ¢ u], AD’ + CE- 9| Z+-& Fsfodat,




20. ohe 2R Zo] LA = 90° &) AZHE2HE ABC oA BC = 1lem,
CD = 10cm , BE = 6em B o, »? 9] gh& Fapofe}.




30mcm?

o, Q = 12rcm? , R =

k13
=

J015 24P, Q, R

1
o

sholat,

2

AC 9] Ze]

cm



22.

7}
l
o &3 A, CAM Y 49 Es
7¥zv D, E&} 5}x}. AD=10 cm,
BC=26cmd ©, DE9] Zoj=

T26em-



23.

ohg 283 2ol W7t Goem? 9 o5
3 ABC 94 BC = 10cm € T, AB <]

Jajolat,

Z]o

At
Z

]

i N

“~10cm- -~



24. PG BT 42 - \2 ool

Arro ——=1D
N -
3em 7
\ 7
\ 7
\/
2. em- % ~ycm
P
B C



® /EHG =90°

Holrt.

T

N

A

® TABCD ¢} oEFGH 9] Y o]9] H]

0

5

@ oEFGH =

a+b:co|th

=
.

= ACHG

@ ABGF

® /FEA + /GHC =90°



